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(New Course)

instructions

SECTION A

Max. Marks: 85
- A,B and C. attempt each section according to the given

[tme 20 Minutes i Marks: 18

Note: Attempt all questions of Section-A and return it i

0 the superintendent afler 20 minules,

Overwriting/defacing/eutting etc is prohibited in Section A, an no eredit will be given to such answer.
I. Insert the correct options in the empty box opposite to each part.

Vi

vii.

viii.
1X:
X.
xi.
X1
X1ii,
%iv,
XV.

XVl

xvil,

xVIilL.

The dimensional units of acceleration is :

i 5 - e =
A (LN B! [L*T? S F B il p. [L'T)
A vector whose magnitude is one is called

A Null vector B. Umit veclor ~C. Posilion vector [, Posilive vector

The range of projectile is same for the two angles which are mutually

A. rthogonal B. Supplementary  C. Complementary D. Sumis 45"
The motion of a body in a cirele is called

A. Rectilinear motion B, Vibratory motion  C. Elliptical motion.

. Angular motion '

The angular speed for daily rotation of earth is radian/hr is

A, i B.2% C. 4% B, e _
The weight of the pilot diving down with an acceleration of 9.8m/sec” will he
A. Double B. Zero C. Half D. Negalive

I'he work done in moving a body between two poins in a conservative field is
independent of

A. Force B. Direction C. Path followed D. Energy

Human blood pressure is measured in

A, N-m™ B. Pascal C.CmHg D, mmHg

The angular frequency and frequency of SHM are related as

A, w=2af B.[=2Aaw C.F= I.r’z,w,. D.f= E.”w

The frequency of second pendulum is

A. | hertz B. 0.5 hertz C. 2 heriz D. 0.25 hertz

The points of maximum vibration of a string in standing waves are called

A. (Urest B. Mades C. Antinodes  D. Trough

Work done by centripetal force is

A. Positive B. Negative C. Maximum D, Zewo
Which of the following is not found in both sound and light.

A, Polarization B. Interference C. Differection D. Dispersion
The |cast distance of distinet vision for normal eye s

A 1Semll B3, 20cm C. 25cm 2. 22¢m
The process in which heat neither enters nor leaves the systen is called

A. lsothermal B. lsochone C. Isobasic ). Adiabatic

Which one of the following properties of light does not depend up on the nature
of the medium.,

AL Veloelty: 3. Irequency C. Wave lengtl; L. Amplitude
Sound waves in air are
A. Sonar waves B. EM waves C. Transverse D). Longitudinal

The magnifying power of an astronomical telescope is
o,

A fotfe B. fo—fe C. fofe B S S

-

s

i
e

[
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MNote:
1.

V.

V1,

PHYSICS-1
(New Course)

Time alloys ed for section B and C is 2 hours and 40 minutes.

SECTION B
Marks: 40

Attempt uny TEN part each part carries FOUR marks.

k:
ii.

11

vii,

viii,

1x.
*i;

xii.

%11
b

KW,

Wiite the dimension of force, momentum, power and density

Cun the magnitude of the resultant of two vectors be greater than the sum of magniludes
of individual vectors.

Gravitational force acting on a satellite is directed towards the centre of earth. Does this
force exert torque on satellite.

W liat are coneurrent force.

What is weight of a body. What is the weight of a freely falling body

When an arrow is shot from a bow, it has KE. From where does it gets the KL,

A man rowing boat upstream is at rest with respect to the'shore is he doing work,

What is moment of inertia?

Why a car has oblong shape design,

Detine vibration, time period, frequency and amplitude.

Wlat are the conditions for conslructive and destructive interference of two sets af
NViaves? 1

Why does the pressure of air in automobile tire increases if the automobile is driven for a
wilile?

Wihat is meant by co-herent and in co-herent sources of light.

Ditlerentiate between linear and angular magnification,

What is meant by free oscillation and foreed oscillation.

SECTION C

Marks: 27
Attempl aiy three questions from this section. Each question carries equal marks.
a. Define vector pmdud of two vectors. Discuss any two characteristics of it. 5
b. Find the wiluc: of “p” for which the following two vectors will become perpendiculas
Lulaul‘t]ar!&“"l—4j+kdndﬂ 51— pj + 2k 4
a. Define linear momentum. Show that rate of change uflmcnr momentun is equal 1o force
acting on the body. 5
b. “I}kg man, Jumps into swimming pool from ad;vmg board 10 meter ahove the water if
it 1 tkes 0.5 second to reduce his velocity to zero."What average force doces the man exerts
on {he water. - i
a. Deline centripetal force. Derive mathematical expression for it. 5
b. A car of mass 1000kg moves round a curve whose radius of curvature is 100 meler at 3
constant speed of 25m/sec. What is centripetal force acting on it 4
a. D-:-Iim: Cp and C,. Show whal L'l\—{,‘ 3 3
b. “alculate the efficiency of heat engine, whose two temperature reserviers is at 27°C. and
]u-_- | lemperature reservies is at 327°C d 4
Write short notes on any two of the [llowing. 9
i Sirple pendulum. i simple microscope
1 Fscape veloeity - iv. Entropy
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ENGLISH-I 1
Tutal Time: 3 Hours Max: Marks: 100
Notes There are THREE Sections of this paper i.e. A, B and C, Atternpt each section according to the given instruction.
Time: 20 Minutes SECTION A Marks: 20

Note: Attempt all parts of Section — A, Section-A must be returned 1o the superintendent after 20 minutes even if you
have not atlempted any question, Overwriting / defacing /cutting ctc is prohibited in Section-A and no credit
will be given to such answer,

Al King B} Palice C) Jailer D) Judge

xx)  The girl saw the man dragging out of his car ;

A) A blanket B) A sack C) A statu D) A corpse

I Choose the correct option and write it in the empty box provided opposite to each part.

i) “One way of love” is composed by

A) lobert Browning  B) John Clare C) W.B. Yents D) Robert Frost :l
ii) My whole life long I learmntto

A) Play B) Love C) Sing D) Read Ij
i) Those who win heaven are they.

A) Happy B) Sad C) Blest D) Lucky Pl
iv) All June I bound the rose in .

A) Bundles B) Ropes C) Clusters D) Sheaves E]
v) The distant huntsman whistle winds his

A) Pipe B) Whistle C) Horn D) Piano |:|
vi) His name was and he was a bull-terrier, D

A) Guorge B) Rex C) Pao-Cheng ) Cheng-Yu
vii)  His mother swooped past him, her wings making a loud.

Al lche B) Roar ) Sound D) Noise I:I
viti)  Even in clear weather, in this gorge the sun ____ shone.

A Never B) Always C) Seldom ) Usually D
ix) Skvortsov flew into a rauge and gave the beggar a merciless

A) Punishment B) Beating C) Scolding D) Taunting D
x) The Bumell children sounded as though they were in .

A} Trouble B) Misery C) Despair D) Shock [:]
xi) But by being recruited | neither meant to hurt Hitler"s

A) Thoughts B) Passions C) Emotions D) Feelings ]:
®it) The day of the panty arrived. Madam Laisel was a great o

A MName B) Failures C) Success D) Beauty E:l
xiii)  Too you really believe that a machine .

A) Hesponds B) Works C) Feels D} Thinks |:|
XIv) Elix used to goto the Law Courts : :'

&) Lveryday B} Every week C) All the same ) Always
xv) These animals are camel of prodigious size and v

A) Height B) Strength C) Weight D) Power |:|
xvi)  Victoria isthedsughterof .

A) Henry Slate B) Elizabuth C) Ben Jordan D) Abel Marry-weather D
xvit)  Damon and Pythias were well known for their ;

A) Business B) Friendship C) Enmity [3) Cowardice D
xviii) “Come, _ you have got to live with one of your daughters.

A Mro. Slater BB) Mr. Marry Weather C) Mr. Henry D) Mr. Ben Jordan I:j
xix)  Pythias, do you believe for a moment thatthe would let me leave this prison™

40
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Marks: 50

ENGLISH-1
Note: Time allow: for section B & C is 2 hours and 40 minutes.
SECTION-B

Attempt any TEN of the following questions. Each question carries equal markf. Q-II is
compulsory.
i) What is significant about the bird’s first flight?
i) What qualities does skvortsox most prize in him?
it} Whit work do Chéng Yu's parents do?
V) What kind of machine Maxon wants to invent?
V) What were the items recovered from young man's various pockets?
vi) Why 15 Pythias arrested?
vii) Why is the girl in the “Heat Lightening” so frightcned?
viii)  What does Damon do to save the life of Pythias?
ix) How does Abel Marry Weather punish his selfish daughters?
x) Describe the theme of the poem “A Psalm of life”.
%i) What are the physical losses which we have to face in old age?
xif)  Explain with reference to the context the following stanza;

Let us, then, be up and doing

With a heart for any fate,

Still achieving, still pursuing

Leurn to labour and to wait.
OR  Paruphrase the following stanza.

Note:
.

Iv.

V1.

Attempt any THREE questions of the following. All questions carry equal marks.

a)

b)

b)

a)
b)

Yet Ah, that spring should vanish with the Rose
Thai vouth’s sweet-scented manuscript should close
The Nightingale that in the branches sang

Ah whence and whither flown again, who knows!

SECTION-C

Transiate the following into Urdu.

1) Anorchestra could be heard playing in one of the restaurants.
i) The music ended and the two sat for a few minutes in silence.
iii) The whole school seemed so strange and solemn.

iv) He realized to the full the extent of his degradation.

v) She had no proper wardrobe and no jewels.

Translate the following into English.

Marks: 30

e tbltlens (e nfEm (r o bdfose B it

ﬁiﬂ_murg?i:fﬁr"ﬁ (o U bl (e
Change the voice of the following.
i) By whom have the flowers been plucked?
i} The teacher is calling the roll.
i) Forget the past,
iv) English is spoken all over the world,
v) I read a newspaper daily,
Fill :n the blanks with proper prepesitions.
i) I was looking my books.
i) Don’tery spilt milk.
i} She burst tears,
iv) Day  day, we are growing old.
v) He lives __Clifton, Karachi.

Draw the character skeich of Damon.
Write the summary of “The Beggar”,

Write an application to the Prineipal of your College for Fee Concession.

4]
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(NEW) {
Fotal Time: 3 Hours Max: Muarks: 85
Nete: There are THREL Sectious of this paper i.e. A, Band C, Attempt cach section according (o Whe given instruction,
lime: 20 Minuvtes SECTION A Marks: 18

A a = » " - - w "
Note: Attempt all parts of Section — A, Section-A must be returned to the superintendent afier 20 minutes even if you
have not attempted any question. Overwriting / defacing /fcutting etc is prohibited in Section-A and no credit
will be given 10 such answer.,

L Choose the correct option and wriie it in the empty box provided opposite to each part.
i} Brancl of Biology which deals with the study of social behaviours in Individuals of a population'is called
A) Eoology B) Parasitology C) Sacial Biology ) Microbiolopy
i) [n prokaryotic organisms the cell wall is compose of:
A) Cellulese 13) Chitin C) Murein 1) Silica
iii}) Imperleet fungi is: o
A) Zypomycota B) Ascomycotu C) Basidiomycota ) Deuleramycola | !
iv) Heterocvst is found in:
A} Euglena B) Spirogyra C) NOSTOC D) Yeast I
v) Cell wall is composed of two overlapping plates in:
A} Radiolana BY Chlorella C) Dianoflagellates 1) Diatoms I:!
vi) Enzymatic reaction is affected by: :
A) Uhange intemperature B) Change in pH  C) Change in sublrict concentration Dy All I}w:-l:[ ]
vii) One o the following is called garbage disposal unit of the cell. : N
A} Peroxisome B) Glyoxisome C) Lysosome 1) Golgi body I —]
viil)  Reserve food material in fungi is: )
A} Starch 13y Oils C) Fals L) Glycogen [ J
1) Conidii is the most common method of asexual reproduction in: 1 N
A) 7y promy cota B) Ascomy cota C) Basidiomy cota 13) All ol these L _r
%) In which group of Bryophytes the spore germinate to form protonema: T
A) Hepaticeas B) Authocerotae C) Mosses ) All of these [ [
xi) Archeponia is absent in:
A) Bryvophyies B) Salaginella C) Gymnosperms ) Angiosperms

xii) Qctopus belongs to phylum:
A) Annelida ‘B) Molluska C) Arthropoda [7) Echinodermata |:]
xiii)  Digested food is absorbed in:
A) Stomach B) Small intestine C) Large intestine 1) All of these I |
Xiv)  Spongy bones are present mainly in: _
A) Beptiles B) Mammals C) Birds D) None of these [
xv) Weakoning one then bursting of wall of Alveoli occur in the disease:
A) Lung Cancer B) Asthma ) Tuberculosis [} Emphysema L

xvil Haemoglobin forms major part of

A) RIS B) WBC C) Platclets D) All of these [T
xvii)  Absorption of foréign DNA into a cell is called: ;
A) Transduction B) Transformation ) ConjugationD)) Al) of these

xviii)  Aminc Acid is the building block of:
A) Mucles Acids I3) Carbon hydrates ) Proteins D} Lipids

L
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" y
Note:  Time allowed for section B & C is 2 hours and 40 minutes.
| SECTION-B e des: 40
1. Attempt any TEN of the following questions, Each question carries FOUR murks,
i) Functions ol plastids. '
i) Factors affecting Enzymes action.
i) Structure of Bacteriophage.
iv) Economic imporiance of family Rosaceae.
v) Impuortant characters of class Fishes.
vi) Nares five animals of phylum Coelenterata.
vii)  Grum pusiaye und gram negative badlt ™ )
viit)  Impurtance of Insects.
ix) Roct Pressure.
X) Diflerence between Monocolts and Dicots.
X1} Hydroponics
«ii)  Rele ol panereatie juice in the process of digestions
xiit)  lmportant characters of Fungy,/
SECTION-C Mavks: 27

Nole: Attempt oy THREE questions of the following. Each question carries equal marks. Diaw labels
dizgram where nEcessiry.

I Deline Altcmation of Generation. Discuss Alteriation of generation in Ulva,
Iy. Dreline Lipids, Discuss various groups of lipids and give functions of each group in living things

%. Define Transduction. How transduction lakes place in Dactunia

V1. Discuss churaclers of Class Mammalia and give different groups ol manunals.
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l'otal Time: 3 hours Total Marks; 85
Note: There are three parts A, B and C. Attempt each part according to the given instructions.
SECTION A
Time: 20 minutes Marks: 18

Nate: Attempt all parts of section A and must be return to the superintendent after 20 minutes even if
you have nut attempted any question. Overwriting/cutting/defacing ete. is prohibited in seetion A
and no credit will be awarded. Choose the correct aption and write it in the empty box provided

opposile t cach part. =
. Wiich one of the following contain the largest no of atoms?
A) 25moles of CHA By 10.0 moles of He C)4.0moles of So; D) 3.0 moles of NI,
i, The PH of a solution is 10. What will be the [OH) ion concentration. '
A) 17'™M B) 10"  O10™M D) 107"M 1
iii, The unit of rate is {
A)Moledm™ 8™ B)Mole-1dm’ S €) Mole dm™$ D) Mole dm* §*
v, The oxidation No of Cl in Kelo is =
A) -1 B) +1 C) +5 D) +7 r
V. Sn" 4+ 2e =¥ Sn'""; the radiation is =
A) Kedox radiation B) Reduction oxidation radiation
) Reduction Radiation D) Oxidation Radiation f TR
vi. SHI: is used for =ty

A} Calomel electrode B) Female C) Standard Hydrogen electrodes 1)) Male
vii,  For the radiation MgFy, 2 Mg* 4e+27 og the solubility products is given by

A) K =M [FY B) =Kep

[MgF,] [Mg™] [F?] —
C) KSP=[Mg"] [ D) [M*'g]* [F] = Ksp
viit. In ] [:Cl; the carbon is hybridized
A) Sp B) Sp? C) dsp™D) SP o= |
IX. The oxygen molecule is a substance . N
A) Ferromagnetic  B) Diamagnetic ) Paramagnetic D) None of them
X Hydrogen bond is

A) stronger than Covalent  B) Weaker than covalent
C) Stronger than covalent D) Weaker than covalent and stronger than ionic L

X1. The volume of a given mass of a gas is inversely proportional to the pressure
at constant temperature is called as v |
A) Dalton’s Law B) Avogardro Law  C) Boye Law 1)) Charle Law
xil.  The ionization potential of sodium is

A) More than Li B) Less than Li C) More than Mg D) less than mg and less than Li
Xill.  An ordinary gas will behave ideally under the following condition T

A) Low temperature and high pressure B) High temperature and low pressure [ il
B) Low temperature and low pressure D) High temperature and high pressure

xiv.  Which one is an stationary phase in paper chromatograph [ ol
Al fcetone  B) Aleohol C) Water D) Piece of filter paper R

XV. [he H-O-11 angle in water is —
A) 109.5" By 1207 C) 180° D) 104.5" [

xvi.  The geometry of BF; molecule is e
A) Square planar B3) Trigonal planar ) Tetetoacudrod D) Pyramidal |: .

xvi  Which of the following compound is used in salt bridge —
A) KDBr B) Kcl ) Bacly D) MgBr, I

xviil. Chuinical kinetic deals with
A) ileat of chemical reaction B) Enthalpy of chemical reaction F=m

C) Bom’s Habber Cyele [7) Rate of a chemical reaction
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CHEMISTRY-I M
{New Course)

I''me for section 13 and C is 2 hours and 40 minutes.

Nule:

Mote:

11

Altempt any TEN parts, Each part carries FOUR marks

I

ii.
.
I,

viil,
ix.

i
Xii.

Xiii.

SECTION B
E\:i:yks: 41

Prove that . = A and g, = AH

The boiling point of water is more than ethyl alcohol; why?

Deline buffer solution. Why it control the Py of the solution.

Deline activation energy. Why it is necessary for the molecules of the reactants to form
the produets.

Dificrentiate between Honiogenious and Heterogeneous equilibrium and write the
equilibrium constant K¢ for the following reaction.

CaC oy ¥ Calg) + Coygy _

FFor an atom the value of 1 = 1 find the values of m and draw the shape and orientation of
orbilal. Hint =1 = Azimutnal Q. No. and m = magnetic Q. No.

Wliat happens to the energy of an electron when the distance between the nucleus and
cleciron increases. Also caleulate the energy of electron where the radius of the Atom is
equal to infinity.

Deline the graham’s law of diffusion of gases and Avopardro law.

[he Half life of first order reaction is independent of the initial concentration why?
Calculate the No of moles of NaOH in 10g of NaOll _

What will be the molarity of H80, solution containing 4.9g in 250em’ of a solution
Write the equilibrium constants K¢ and Kp for the following general reversible reaction,
aA, +b By ILigy + mMiy,

Difierentiate between empirical and molecular formula. Give at least four examples of
each

SECTION C

Attempt any THREE questions from this section, Each question carries equal marks.

a)

i)

b)

Muarks: 27

Stalc and explain the Hess’s law of Heat summation.
Calculate the Heat of formation of acetylene (C;H;)

2C;, + Hagy =¥ CaHyy) ; AH = ? from the following data.
J:;l CI(SJ = U_‘g.;gj 4 Cﬂ'ﬂg} : AH =-393. ?K+

i1} Hagg + %2 Oy =2 HyOyy 5 AH = 284 3K

ii1) CEI‘IHg; fl*r D’#E} > ZLU;{”} n HIH:- AH = IQQGKI

Wlhit do you mean by Auto proteolysis of water; derive an expression for ionization
constant of water (K,)

What will be the h\ droxylation concentration in a solution having the [1;'0]
concentration 107 'M

Deline the elevation of boiling point. Hlow it can be used for the determination molecular
must of solute,

The hailing point of water is 99.725. to g mmph of 600g of waler arc added 24.0p of

soluie having molecular mass of 58g.mole ', to form a solution. Caleulate the hu:luu_:_
point of the solution.

Write detail notes en any two of the following.
Quantum Numbers.

Hybridization.

Elevirode Potential

i
ii.

il




